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=29471 .88 [ kg1

=14239 _@8[kgl. WUtest =56855_00[kg]
Width 2.230Im1, Height= 2.418[m]1, Tire radius= B.588[m1]
Crew 2

Midle 480 . 08[rpm]1,. Mrate 23860 . 88[rpm],. Mex = 2380.88Lrpml
Mes 571 .88[rpm]. Mec = L5L2.88[rpml
MuAir B.815237 [kgf/<km-h>"21. MuRoll = BA.8685448 [kgf- kgl

Mumher of gear = 7
gear ratio efficiency torg margin DWIkg]

i: 6.839 B.95@ 2._@88a 20976279149
4_.583 B.958 28868 7968 .76126
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2.469
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0.465

8.064
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4.444
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rev(rpm) torque(Nm)
610 534
620 537
626 542
635 546
643 548
650 550
658 556
667 552
674 557
682 556
690 557
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706 560
715 567
723 575
730 573
739 574
746 575
755 585
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12.33
16.05
18.74
20.28
21.48
23.13
25.17
27.19
28.97
30.43
31.46
32.24
33.16
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time(s) Vtarget(km/h) Vreal(km/h) Ne(rpm) Te(N-m) N_norm(%) T_norm(%) Shift
0 0.00 0.00 600.0 0.0 0.00 0.00 0
1 0.00 0.00 600.0 0.0 0.00 0.00 0
2 0.00 0.00 600.0 0.0 0.00 0.00 0
3 0.00 0.00 600.0 0.0 0.00 0.00 0
4 0.00 0.00 600.0 0.0 0.00 0.00 0
5 0.00 0.00 600.0 0.0 0.00 0.00 0
6 0.00 0.00 600.0 0.0 0.00 0.00 0
7 0.00 0.00 600.0 0.0 0.00 0.00 0
8 0.00 0.00 600.0 0.0 0.00 0.00 0
9 0.00 0.00 600.0 0.0 0.00 0.00 0
10 0.00 0.00 600.0 0.0 0.00 0.00 0
11 0.00 0.00 600.0 0.0 0.00 0.00 0
12 0.00 0.00 600.0 0.0 0.00 0.00 0
13 0.00 0.00 600.0 0.0 0.00 0.00 0
14 0.00 0.00 600.0 0.0 0.00 0.00 0
15 0.00 0.00 600.0 0.0 0.00 0.00 0
16 0.00 0.00 600.0 0.0 0.00 0.00 0
17 0.00 0.00 600.0 0.0 0.00 0.00 0
18 0.00 0.00 600.0 0.0 0.00 0.00 0
19 0.00 0.00 600.0 0.0 0.00 0.00 0
20 0.00 0.00 600.0 0.0 0.00 0.00 0
21 0.00 0.00 600.0 0.0 0.00 0.00 0
22 0.00 0.00 600.0 0.0 0.00 0.00 0
23 0.00 0.00 600.0 0.0 0.00 0.00 0
24 0.00 0.00 600.0 0.0 0.00 0.00 0
25 4.19 4.19 705.0 2444 5.00 43.67 2
26 8.32 8.32 1148.6 2413 26.12 3183 2
27 12.33 12.33 958.2 3204 17.06 49.16 3
28 16.05 16.05 1247.3 299.2 30.82 38.65 3
29 18.74 18.74 1456.3 222.2  40.78 2764 3
30 20.28  20.28 1576.0 135.9 46.48 17.06 3
31 21.48 21.48 1669.3 110.6 50.92 1422 3
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